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Soluciones 
 1.-  a)   mir

rr
4)0( =  mjir )1012()2(

rrr +=  

 b)   smjivm /)54(
rrr +=  

c)    smjisv /)58()2(
rrr +=  v (2s) = 9’43 m/s 

 
2.-  vm (1-2)  =  3’2 m/s  =  11’52 km/h 
 vm (2-3)  =  2’5 m/s  =  9 km/h 
 vm (1-3)  =  2’77 m/s  =  9’97 km/h   
 
3.-  a)  misr

rr
5)1( =    mjisr )47()3(

rrr +=  

 b)  mjir )42(
rrr +=∆  

 c)   smjivm /)2(
rrr +=   smvm /5=r

 

d)   smjisv /)2()3(
rrr +=   smv /53 =r

 

e)   102 −= xy  
 
4.-  a)    x = 4 

b)    mjisr )4()1(
rrr +=   mjisr )34()3(

rrr +=  

 c)   mjr
rr

2=∆   mr 2=∆  

 
5.-  a)  y = x2/16 + 1    mjisr )58()2(

rrr +=  

 b)  smjisv /)44()2(
rrr +=   smsv /24)2( =  

 c)   2/2)( smjta
rr =    a = 2 m/s2 

 
6.-  a) at = 4 m/s2 ac (2s) =  14’1 m/s2 
 b) a (2s) = 14’7 m/s2 
 
7.-  a)  Aceleración normal. 
 b)  R = 80 m 
 
8.-  mjir )2(

rrr +−=∆  
 

9.-  a)  smjtiv /34
rrr +=   smtv /916 2+=  

 b) 2/3 smja
rr =   a = 3 m/s2 

  para  t = 1s: at = 1’80 m/s2  ac= 2’40 m/s2 
 
 


